
��� �������	��
�����	��

��� ������ ��	 
�	 �	����� ���
����� ����������	�� 
�	 ����������� ���� ���������� 
���� ������

������������� ��� ��	 ������ �	������������ 
� �� ���� ����� �	
���
������ ��� �	����������� �� ���

�	��������������� ��� ���������� �� ��	� ���������� ���������

�� ���� ������ ������ ����������� ����	�������� ��� ������
 	���� �	����������� ���	����� !��
 ��	 �	���"

����# ����	 �����	 
�	�� �$�	��� ���� ��� ���������� 
������� �����	����� %�� �	����������� ��� ����

��������� ���
	���
��
�������������� ��� ��	 ���������� �	���� ���	 �$�	��� ����� �����������"


&���� ��
�	����������� ���������������� !�� ���	�� ��� '�������# ��
� %�� �	����������� �����
�

��	 ����
����� ���
�
������ ���	���� ��� ���������� ���	 ������ ����
����� ��� ���� ��
��
�����

���	����

%�� (���� ���� ��	 ���� ���� ���������� �����	����� ��	� ���������������	 T �������� %�	 ���	��	�

�����	 (��� ���� ��� ������ ��� 	
����
��
�� ��� ����������� �� ��� ���)� ������������	������ ννν*

��� ��	� �� +,���� - .�	�
 ��������� /�� 0�	������ �
� ���� ��� �	���
	�1���
 ω� ��� ω = 2πν !����

�� .
 ��������#� %�� �	���
	�1���
 ������ ��
 ���� ����	� ����������� ��	 ���������� ��� ��	 �	�����"

������ ���� ���	������ ��� ���� ������
 	����� ����� �	����������� �� ��	 �	��������� �� �� �	���
��	�

��
 ���� 2���� �� ��	 ������ �� ������� ���� ��	 /���������� ��
 ��� �� ������� �����	 2���� 
� ��������

%�� ��������	� �������� ��� ��������� ��� ����	 ��	��������� ����������� ����� ��� �	���
	�1���
 ��	

���������� ������ ��� 3�������������������� ω ��	 �	����������� ��� !����� 4�������� 5�++#�
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�����	��
��� ��	 �����������
�������

���� ���������� ��������� ���� 
��� ����������� �	
7��� �����

� �� ��) ���� 	7���	������� �	�
� !
�	 '������� ���# ��	���� ���

� ���� 8	$����� ��) 0�	������ �����

%�� �����	������ ��	 �������� �	������ ��	 ���� ���
��� ����	��� ��) ��	 ��� 	7���	������� �	�
� ���

F �� ��� ������9���� ������������������ F = ma ������
��� 4���	����0 ��
�� � ���� ��	 ��� �����

0�� �����������	 ���	��� !������ ��� ��	 	7���	�������� �	�
� 
��������$���# ��� ����������	 ���	���

!��� ��� 8	$����� ����$��# �������� ���
�� !���	������
:#�

��������� ����	������ %�� 	7���	������� �	�
� ��� ��� ���������� �	�
��

FFFE = −Dxxx !.����9����� ;����
:#

����� D ��� <=���	���������> ��� x ��� 4��������� !	�����0 
�	 '�������# ����� ������
�� �� FFF = maaa =

md2xxx/dt2 ��� ��
�	��� �	����� (
D

m

)
xxx(t) +

d2xxx

dt2
= 0

%���� %�?�	��������������� !@� A	�����# ���� 
�	���� ��	�� @"������� B����	��	�� ��� �� ��	���* ��	

� ���� ��� ���	 ���
��� ��� ����	 C�	������ ����

xxx(t) = xxx0 sin[ω0 t + ϕ0]

6@



� ��� !%�� @� 4�������� ��	 �����" ���	 �������"=������� ��� �	���	������ ��	 =������� ������:#� %��

2 ���� ����$�� 
��� B����	�����������������!xxx0 - 4�
�������������� ���	 4��������* ϕ0- 4�
����"

�����#� 4�)�	��� ����$�� ��� ���� �&�������������� ��� �	����	������ ω0� ��� ��	�� ���������
��� ���

������������ �&����� !��� ��	��������� A�
������	�#� �$����� ��� �	�
���������� D ����� ��� 8	$�"

�������������� m� �������� ��	�� %������� �������������������� �	������ ��	 ��� ��� ���	���"4����


� � � �����	� ���������� %	�������������� !8�	�����������#� =����������� 3����	�$��� �� ����� �"'��	�

 �� !��"#��
� ����������

4��� ��	������� ������������ ������ ����� ���� ��� ��� ��� ����� 2 ���� 
7	 x(t) �������� �7	��* ���

��������������	��� ���� ��	�� '������ 0�	��	��� %�� ������������ ���� ���� <���$��
�> ��	�� ����

'��������	�
��

FFFR = −kvvv = −k
dxxx

dt

�� k ��� <'����������������> ��� v ��� ��������� ;�������������� ��	 ������������������� �����

!4���	� '��������	$
��� ��� ����� �����������������	���	������ ����� ���� ���� �������� ����� ��� ���	

��� ���������� =�	�#�

%�� 2 ���� xxx(t) ����$�� �����	 
��� 4�
���������������� 
���� ���	 ���� 
��$�
����� (������$�������� �

xxx(t) = x0x0x0e
(−t/τ) sin[ω1 t + ϕ0]

��� ��	 %$��
����
��� τ = 2m/k� ��� ��� ����	 ����� �	���
	�1���
 ω1� ������� ��	���

ω1 =

√
ω2

0 −
k2

4 m2

6D



%�� ���)� ��� =	�1���
 ��	� �� �� �������� ��� 4�������� ����� �E���������� ��� ��	 (������������ τ �

��������� �	
�	 ��������� �	
��
��
�
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3�	 � ���� �	�� =$��� ����	���������

+� 	
����
���� � �� ���� ω2
0 > k2/4m2� ��	 A�
������	 ��������� ��� ���	 !��� ����# ���$��
��

@� ���������
��� ��������� � ω2
0 = k2/4m2� ��� ���������� ����� ��� 
�������� ��� %$��
��� ���

������� ������� ��� ��� ���������� ������� �7�
���� 
7	 ��� C�	������� 0�� �������������

D� ����
����� � ω2
0 < k2/4m2� ��	 ����������� A�
������	 ���	� �������� ���� 
� ���������� �E����������


�	 '������� 
�	7�� !<�	������>#�
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�	�������� ������������

%�� �����	 ���	�������� ������������ ���� ����� ������������� ��� ���	 ���� %$��
��� H �� ��� ��	

A�
������	 ��	� ������ <�������)��> ��� �$�
� ���� 
	�� 0�� 
��$�
������ $�)�	�� �	$
��� �����	� B� ��	

����	 ���� ���� ������������ ���	 ���	 ������	 ���	� ���$��
�* ��	� ��������������	��� ��	� ��	��

'������ ��$� �� 3$	�� ������������ ��� ���������� ����� ����$����� 
�� �����������

��� ��������	 =��� ��� ���� ��� �	�������� ����������� ����� ���� 
&������ ��	����� �E��	�� �	�
�

��� ���������� �	��
 %$��
��� �� ;��� �$��� %���� �E��	�� �	�
� ��) ���7	���� ����� ������� �����	�

�����	���	��� ��	���� ��� ���� �� I	��
�� ���� ��������� =�	� ����� !
� �� ��� ���)�� ����	 ��������#�

������ ��� ��	 ���������� =��� ���� ��	�������� �E��	�� �	�
�� �� �� ���� �	�
� ��	 �����" ���	 �������
�	��

FFF ext = FFF 0 cos(ωextt)

����� FFF 0 ��� ��$	�� !4��������# ��	 �E��	��� �	�
� ��� ωext ��	� �	���
	�1���
 ����� ����� ���� 
	��

�$����	� �����$���� 0�� ��� A�
������	� ��	��
 ��� �	�
� ��	��� %�� �������������������� ��� ��� ����

����	� =�	�� ��� ����� 0�� 	7���	�������	 �	�
�� 8	$�������	�
�� ��� '��������	�
� ��� ����� ���	

����� �����	� ������ ��	 �E��	��� �	�
��(
D

m

)
xxx(t) +

(
k

m

)
dxxx

dt
+

d2xxx

dt2
=

(
FFF 0

m

)
cos(ωextt)
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%�� 2 ���� �����	 �������������������� ��� ������
��	��	 ��� ��� ��	 
	���� ����������� ��� ������� ���


��� 8������

+� ��� ����
����
��� ��	 A�
������	 0�	������ ��� �����	 �����
	�1���
 ω0 
� ���������* ���� ������

��� ��	 %$��
����
��� τ �� . . .

@� ��� ����������� ������� � ��	 A�
������	 �������� ��� ��	 0�� ��)�� ���	$���� =	�1���
 ωext� ���

4�������� ��� I���� ��	 ������������ �$���� 0�� ��� C�	�$����� ω0/ωext ����� 0�� ��	 %$��"


��� ���

2 ����� y = y0 sin (ωt − β)

���� y0 = F0

m
√

(ω2
0−ω2

ext)
2+4δ2ω2

ext

%$��
������������� δ = k
2m� ω0 =

√
D
m

β� I�����0�	��������� 
������� �		���	"�	�
� =!�# ��� �	
�������	 ����������� �� �����

tan β = 2δωext

ω2
0−ω2

ext
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��������� �	
�	 ��� �����
��
� ����������� �
� ��� �������� �
��� ��
�� �����
��
�
 ����������� �� ������
���
 �����
� ��� ��
����


��� �����
�
 ��� ��
�! "�� 
�������
 ��� ��
��
 #��
� ��� ���������� ���$% ���
� �����
��
� ��� ��
���� ���&% ��� ��� ��������� ��� �����
�


'���� �����! (�

 ��� �����
� ��� ��
� ����	
 ��� )���
��� ��
� ��� ����������� ��� �ω0/ωext * +�% ��� ��� ,�����
��-.�������
� �������% �� ��.�

��
� #/���
�
�-.��
0
�
�$ ��� �����
��
�! ��� �������� �����
��
� 1
��� ��
 2���	
 .�� ��� ���������
 ��� ��
�% ωext = ω1! ������ ���

�����
� ��� ��
� 
�	
 ������% �� 
���� ��� �����
��
� ������ �. �
� ��
� ����
 3��� �-� 
�
� ��� ��
��
! ��� �������� �
��� ����	
�
 �����
��

'���� ����� �
� ���������� ��� 3��� �-� ����
� ��� ��
��
% 45 ◦ .�� /���
�
�% �
� ��
� ����
 +65 ◦ �-� ���&� �����
� ��� ��
��
!
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	 ��� �����
��
� ��
�� �����
��
�
 ����������� ��� )���
��� ��
� ω0 �
 �.
�
������� ��� �����
�
 ��� ��
� ω �-� ����	
����
�

�������� ������
���������
 k/
√

m D! "�� ����
�� ������
� ��	
�� ��� �����
��
� �� /���
�
����� ����
 7
�
���	
 �/���
�
����������
�8�!

"�� ���&�� ������
� ��.� �� ���
� /���
�
�-.��
0
�
� ��� �����
��
� ��
�! ��� "����� ��� /���
�
������ ���� ����
���% ��

 ��� ������
�

����
�� ����!
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������� �	�	 9������	
 ��
 ����	
����
�
 �����������
 ��	
��
��
����
���
 �:�����
�

;�0&�% )���
<

�	
���

�������
��� ���
��
��� ����
��
��� �,�
�� l�

���������� ����	�� x(t) (�
��� ϕ(t) (�
��� ϕ(t)

����

"�

����	�� sB(t)

������������� ����� �������	
� ������<�'����

F = −Dx

�������	
�� �=�����
�<�

>���
� M = −D∗ϕ

�	
��������

F = −m g sin ϕ

�
�	
� 
����<


��	
8�

�������� >���� m =���
��������
� Θ >���� m

�������� /��.�
�������

F = −kv

=�����
����.�
�

M = −k∗ϕ

/��.�
�������

F = −kv

� ���� ���

!�"������#

���������

x(t) =
x0 sin[ω0 t + ϕ0]

ϕ(t) =
ϕ0 sin[ω0 t + ξ0]

sB(t) =
s0 sin[ω0 t + ξ0] ���� ϕ(t) =
ϕ0 sin[ω0 t + ξ0] ���� sin ϕ ≈ ϕ�

��������$���%

ω0 �)���
<

��� ��
��

ω0 =
√

D
m

ω0 =
√

D∗
Θ

ω0 =
√

g
l

��������� &��$���% ω1 ω1 =√
ω2

0 − k2

4 m2

ω1 =√
ω2

0 − k∗2

4 Θ2

ω1 =√
ω2

0 − k2

4 m2
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��
����

��������
� ������������

3�	��� 
��� !���	 ���	# ��	�������� A�
������	�� ���������	 ���������+� ���� 
7�	�� ��� ���� ������E�

�������� ���� %���� ����������� ������������ ����� ������ ���� ���
���� =�	�� ���� ��� 	��������

4�
��������������� ���$��� ��	����

� ���� �� 4�
��� ��� ������� ��������������	��� �� ����� A�
������	 ���������	� ��	�� ���������

���� <�����������>� ��� ��������������	��� �������� 
������� 
������� ��� ���
����� A�
������	��

��� ��� ��	*

� ���� ���� A�
������	�� �� 4�
��� ��� ����	 
����� I�������
������ ����	��� ��	���� ���������

�������
����
��
��� %���� ������� ���� ���� A�
������	�� �&���	��� ��� ��	 �������� =	�1���
*

��� ����	����� =	�1���
 �����	���� ��	 ;	�������������� ����� ���� ���� A�
������	�� 
�������

�������� �� ���� ��0���� ��	��������������� ��� ���
���� A�
������	�� �� ��������� ��������"

��� �&���� !<4�
��� ��	 =	��������	���>#� � ���� ������������ �� ����� �	�� '���	���������

�����M���� �� ���� �� D�"J ��	��������������� !�
�� D�"G 
7	 �����	� �&�����#�

�� ���� 0���� ��������� 
7	 ���������� ������������ �� ��	 ����	� '�����0 ���
��� ���� ��� ���������"

��� ������	 /����7�� !CO2, NH3 ����#� ��� ��� ��	 B�
	�	��" ��� '����"�����	������� ���� ��������

��	��� � ����� 4��� ���� 3����� � ���� ��� ���������� ������������ ��������� ��	���� ����� ����

��� ��������������	��� ��	�� ���� ����� 0�� ���������	����������� A�
������	�� !��� /����� ��	 3��"

�������	������# 
�	��N��
� !����� 4��� 5�+J ��
 ����� LD#� ���������� ���������� =���	������� ����������

=����������* %	��" ��� �����	� ������������ ����� =���	��������

� �! "! �������
��� ���	
 ��
� # '�����
�������$
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��� ����	 '���� �������	 =���������� ��	��� ��� I����������� ����������	 ��	�� =���	� ���������� %����

I����������� � ���� ��	 ��� 4���� ���	 /����7�� �������� ��� =���	� 0�	� 	��	� ��� �	$
�� 
�������

��� �����	�� 8�������� %�� I�����	���� ��� �� E"'������� �����	������ ��� ��
� ����	���� ��	� ��� 4�"


���������� 5 ��� ��	 4�������� 4 ����������� O���� I����� ���� ������������ �� ����� '�������

���
7�	���

B� =���� ��	 ����������� =���	���������� �N��
� ���� ���� ����� ���������� �����������	 ��
 ��� ����"

	�� I����� 
�	��

�����������	 �		����� ��� ���������	 �����������
������� 
��� ��	 (������� ��� ��� ��� 4���������

4 �� ������0�	 '������� ��E���� ��	�� ���� I������ %�	 �����������
������ ���	 ��� ����������������

�N��
� ���� ��� ��������	 ;�������������� �� ��	 ����������� I�������������������� �$��� ��	 I�����"

	���� 
�	��

O���� ���
���� I����� 0���
7�	� ���� ��	�������� ������������������� �� ��	 (��� �� ����� '��������

(�� (�������� t10 ��� ��� I����� +5 ��� �������� ���������
������� ���� ��� ������� ����������������

��� ��� I����� 5�

%�	 ���������
������ ��� ���� ���� ��	������� �# ���#� ����� ������� 
������� ��� 	$������ ��	�"

�������� C�	���� ����� ��� ���� ��	
���	��
���� $�����

%�� 	$�������� 4������ 
����	 I������ ��� ���� �� �������� �����������
������ ��M���� ����� ���

	"�#����� %�	���� ��	 $���� ���	 $������"��� λ�

%�� (��� ��� ��� ���� ��	�� �� ��� �����������
������ 7��	 ���� 3������$��� 
� �	�����	���	�� ������

���������������	 &�

%���� ���� 
7	 ��� I�������������������� c = uϕ = λ
T = λν� ����� ν ��	 ���	��	� ��	 �����������"

����	 8 ����

LF



$�����' �����#���� �����	��
���

3����� ���� �������	��)�� <������������� ��� ���� ��
 ��� 3�� ������� �����>� ���� ���������� ���

�	����������� 
���� ���	 ���� 
&������� ����	��� !��������# �� ��	 (���� 3����� ���� ����� ��	 �� ��	

(���� �����	� ���� �� A	� 
&������* ��� �	��	����� ���� 7��	 ����� �	 )�	�� A	����	���� �
�� �	����� ����

�� A	����	���� ����

3�� ���� ��� ��� ������������ ����� 3����� ���� �������	� ���
���� =�	�� ���� ��� ��������
� �����

�� �� ��	�� ���� �����" ���	 �������
������� �����	����� ��	��� � ����� %�� 4	������ ��	 =�������

����$�� ���� ����� ��	 ��� ���
�
�"�������
� ��� ��� ������������� �����	� ���� ��� (	
��
�"�����

���
 ��	 3������

3����� ����� ������ ��� ������������ ���� )#���
��� A0 ��� ���� %���� ϕ0� ������ ��	�� ��� 4�"


��������������� ������� ����� 4�)�	��� ���� ��� ���	����	����	� ��	�� ���� �&�������������� ��� ��	�

(������$�������� ������ !���������������	 T �
�� =	�1���
 ν - 1/T ���	 �	����	������ ω = 2 π ν#�

3����� ���� ��)�	��� ������
������� ��	�� ���� ������ �&�������������� ��� ��	� A	�����$�������� ��"

���	���� H��	� 3������$��� λ �
��$��������� 
k = 2 π/λ�
Ψ(x, t) = A0 sin[ω t − 
k • 
x + ϕ0]

Ψ(x, t) ��	� 3�����
������� �������* ��� �����	���� ��� 4��������� ��	 3���� ��� =������� 0�� A	� x

��� (��� t� %���� =�	� ���� 
7	 ���������������� ���
���� 3������ ��� ���� �� +x"'������� ����	������

(������� ��� �&�������������� !��� 0�� /����� �������� ����� �� ��� ���� ��� 3����� ����	�����#

���� �� ���� �����	� ��
������� ��� ��� 4���	���������������������� !I��������������������# � ���	 uϕ

��	 3����� �������

uϕ = c = λ ν =
ω

k

!;	������������ ��	 3��������	�#

LG



$�����
*���

3�	 ����	�������� 0�	��������� ����� ��� ������� �� �������� ��� ��� ����������� ;	 )� 
� ��	 4��"

�	�������	������� ����� ��� ��� ��� ���� ����	������

� 
���� ��� ����������� ;	 )� ����	���� 
�	 4���	������ ������ ���� �� ������������ ������ !3����	"

������� 2����������#

� ����� ��� ��	����� ��
�� ���� �� ���
��������� 3����� !������������#

� 3������ ��� ���� �� ���� !���	 ���	�	�# '�������!��# ����	����� ��� ���	��� �	�����	���	��� ���)��

�������� 3����� !2����� �������� � � #

� 3������ ��� �� ����� 
��� �����	��
��� �&���� ��������� ��� ����� ���	��� �	�����	���	��� ���)��

�������� 3����� !���������� 3����� ��
 ����	 ;���������� ���	 �� ����	 A	����
��
�#

� 3������ ��� ����� ��� 4�������� 7��	��� ������ ��� !����	���� 
�	 4���	�������	�������#� ���)��

� ��� 3�����* ��� � ���� ��	�� ������ ����	���� 
�	 4���	������ ��	�������� ��	���

� 3������ ��� ����� ��� ��	����� ���������	 4�������� ��
 �����N$���� ������� ���)�� ��
��������

!
� �� 2���������� 0�� ����	 I����1�����#

8	���0�	���� 3����� � ���� ���� ����������� ����� ��� ���)�� ��	� ����������� ;	 )� �������� �� ��	

����	 ����� !������� �� ����� � ������� '���������# ����	���� 
�	 4���	������ !��� 2����� !�����������"

������#�

4�� ��������� �� ��� 3���������	������ �� ����� /����� 
� ����	������� ���	������ ��	 ������������#

��������# ��������������� 3����� ��
 ����� ����������� ���� !;��������� ����� 4��� 5�+K ��
 ��	 
��������

LJ



�����#� 3�	 ��
������� ��� ����	������� ��� x� ��� 4����������	������� ��� ����� !����	���� 
� x# ��� z�

3�	 ������ ���� ��� C�	������ ��	 3�����
������� Ψ(x, t) ≡ z(x, t) ��	�������

%�
� ������ ��	 ��� ���� �� �������� 0���� ���	 ������ �������� ��	 2$��� dx� ��� �� ���� /���� dm = ρldx

����� !ρl - /���� �	� 2$����������� ���	 �����	� /�����������#� O���	 ������� 0�	�$�� ���� ��� ���

��	��������	 A�
������	� ��� ��	������ ��	 ��� 	7���	������� �	�
� ��
 ����� ������� ��� ���
�� ��� ��

��� ������9���� ������������������ F = ma ���� %�� 	7���	������� �	�
� �$��� 0�� ��	 (���	�
� Z

��� ��� ��	 ��� ���� ����	���� ��	�� ���	 ���� 0�� ��	 �	7����� ��� ����� �� ���������� I����� B�� ���

��������� �	
(	 ��� (���� �� "������� ��� ���������

LK



�	7����� ���� !��	���� ����#� �� 0�	��������� ��� 	7���	������� �	�
�� %�� �	7����� ��	� ��	�� ���

@� 4�������� ��	 ������	0� 
!E# ��������
�	7����� ≡ d2z

dx2
=

∂2Ψ(x, t)

∂x2

��� ����� ��� ��� 	7���	������� �	�
� FFF rü ������� ����

FFF rü = Z
∂ 2Ψ(x, t)

∂x2
dx

%�� $��
������
��
 �$�	��� ��	 3������������� ��� ��� @� 
�������� 4�������� ��	 4��������� z(t)� �� ��

a =
d2z

dt2
≡ ∂ 2Ψ(x, t)

∂t2

������
�� �� ��� ������������������� ��� m = ρl dx� �	�����

Z
∂ 2Ψ(x, t)

∂x2
dx = ρl

∂ 2Ψ(x, t)

∂t2
dx

���	� ���� �7	
�� ��� =����	� dx ��
 ������ ������ ��	 ;���������
Z

∂ 2Ψ(x, t)

∂x2
= ρl

∂ 2Ψ(x, t)

∂t2

%��� ����� ���� ��� ���������� $��������������* ��	� 2 ���� ��� ��� 3�����
������� Ψ(x, t)� %�� ���"

������� Z ��� ρl !�&��������������# ��������� ��� 4���	���������������������� uϕ�

u2
ϕ =

Z

ρl
.

L6



������	���� ��� ��

���
����	��

%�� ������������������ ��	 3���� ��� ��	�� 
������� %�?�	��������������� @� A	����� ������� !@"
����

4����������#�

u2
ϕ

∂ 2Ψ(x, t)

∂x2
=

∂2Ψ(x, t)

∂t2

%���� ;�������� �����	���� ��� �������� 0�� ���
����� 3������ 3�	 ������ 
��$���� 
������ ��) ����

��	�������� 3����� ��� �� +x"'������� �$�
�� ����$������ ���� 2 ���� ��	 3�������������� ���� 3�	 ������

��� C�	������ ����

Ψ(x, t) = A0 sin[ω t − kx + ϕ0]

��� ���
�� ��� �� ��� 3�������������� ���� %�
� �	������ ��	 ��� 4���������� �
��� A	� x ��� (��� t�

∂Ψ(x, t)

∂x
= −k A0 cos[ω t − kx + ϕ0]

∂2Ψ(x, t)

∂x2
= −k2 A0 sin[ω t − kx + ϕ0]

∂Ψ(x, t)

∂t
= ω A0 cos[ω t − kx + ϕ0]

∂2Ψ(x, t)

∂t2
= −ω2 A0 sin[ω t − kx + ϕ0]

������
�� �� ��� 3�������������� �	�����

−k2 u2
ϕ A0 sin[ω t − kx + ϕ0] = −ω2 A0 sin[ω t − kx + ϕ0]

LL



���	� ���� �7	
�� ��	 �����
��������� ��� 4��������� ��
 ������ �������

k2 =
ω2

u2
ϕ

���	

ω2

k2
= u2

ϕ

%����� �	������ �����	���� ���	 ����� ��	 ;	������������ ��	 3��������	��

uϕ = c = λ ν =
ω

k

!;	������������ ��	 3��������	�#

��� �	
7��� ����� ��� 3���������������
−k2 u2

ϕ A0 sin[ω t − kx + ϕ0] = −ω2 A0 sin[ω t − kx + ϕ0]

%���� ;�������� ����$�� ��	 ���� !����������# �&�������������� ��� !I�����"# ;�������������� uϕ� ���

���� 
7	 %���� 3������������

3�	 ������ ��) 
7	 ���� 4	� 0�� 3����� H 3����	������� ����������� ���������� !������"# 3������ �����	�"

���� 3������ ���� �����	������������ 3����� !'����"� '���	"� B�
	�	�������"� �������	�� 2����"� �C"2����"�

' �����" ��� ������)���� ;������	�������"3�����# H �������� ;�������� ����� ����� ��� ���
��� ��
�	�"

����� ��������� !��	�� ��� 4���	������������� ��������# ��� 4���	���������������������� uϕ ����

%���� ;�������������� uϕ �$��� �����	�� 0�� 
��� �&�������������� ��� ��� ��� !0�	����������	�# ���

<��������� ��	 '7��������	�
�> K ��� ��� <��������� ��	 8	$�����> T ������ � ����� ��� ����������

���� ��� ���� ��� (���	�
� �� ���� ��� ����� �����	� /������������ ������ �����	� ��������� ���� �� ��	

8������ 5�J ��
 ��	 �$������ ����� ��
��
7�	��

B� ����� =��� ��� ��� 4���	���������������������� ��	 3����� uϕ ������� ��	���
uϕ =

√
K

T+55



������� �	'	

�&���� <'7��������	�
�> K <8	$�����> T

����������� ���� (���	�
� Z �����	� /�����"

������ ρl

3����	������ A��	N$������������ σ �
��

�����	�	�
�

mg

C������"/����������� ρ

������������ 2�
��	��� Pκ C������"/����������� ρ

�����	����� 3�����

��
 ����� �����

�����	� ����
��$�,

2$���� 1
l C0

B������0��$�,2$���� L0
l

�����	������������ 3����� ��

C�����

�����	� =������������

��� C������� 1
ε0

����� =������������

��� C������� µ0

�����	������������ 3����� �� ��"

���
/�����

�����	� =������������

��� /������� 1
εr ε0

����� =������������

��� /������� µr µ0

+5+



!0��� ω0 =
√

D/m ��� ������������:#� %�� 3��������������� ��� ��	 ��� ��
�����	����� ������ ��� ������


�	 �������������������� ���� %$��
��� ���	 �E��	�� �	�
�� ��� ���� ������ 7��	 ��� �	��	��� ��	

3����� ���	 ��	�	 �0��� %$��
��� ���: !���������� �������� 3����� ��
 ������ 3����	������#�

+�
�	��	��� ,�� $�����' �
������ $�����

=����� ���	�	� 3��������������� �� ������ /����� ������ �� � ���� ����� ��	�� ����	��������� ����

P��	����	��� �
�� 4������� ��	 ���
����� 3��������������� ��	�������� ��	����

%� ��� 3������������� ������0� ��� ������0� 4��������� ��
������ ���� ����� 4������� 0�� ���
�����

3��������������� 
�	 C�	��$	���� ���	 ���� 4��� ������ ��	 �������� ���	 ��	 ���������� 
7�	���

%���� I�$������ ��
������� ��� ��� B���	
�	��
�	����������

���
���� 2 ������ ��	 3��������������� ��� ��	�� B���	
�	��
 ��	0�	��	�
�� ��	��� ���� �������� 3��"

���� %���� ��	��� ��	0�	��	�
��� ���� 
��� ���������� 3����� �� �������������
��	 '������� ��
�������	


����
�� ��� 
�	 P��	����	��� �������

Ψ1(x, t) = A0 sin (ωt − kx)

Ψ2(x, t) = A0 sin (ωt + kx + ϕ0)

mit sin α + sin β = 2 sin
α + β

2
cos

α − β

2

Ψ1(x, t) + Ψ2(x, t) = 2A0 sin (
ωt − kx + ωt + kx + ϕ0

2
) cos (

ωt − kx − ωt − kx − ϕ0

2
)

Ψ1(x, t) + Ψ2(x, t) = 2A0 sin (ωt +
ϕ

2
) cos (−kx − ϕ

2
)

+5@



%��� ��� ����� 
�	����	������� 3���� ���	� �� ��	 ���	����	�������� 8�	� ��� (ωt− kx) �� ��	 �����" ���

�������
������� 
����� �����$���� 0�� A	� ��������� ��� ���� 8������� �� �������	 I���� !�������	�#

��� ��	 ��	� 4�������� ��� A	�����$���� !���������	�#� %�� ����������������� !4�������� ����# ���

��� ������������$���� !4�������� ��E����# ���� �	��
���� �� ��	������ ���� ��� I��������� ��	 ������

��� �$���� 
7	 ϕ = π ��� ���7	������ (����� � ����

xK = n
λ

2

xB = (n +
1

2
)
λ

2

%���� ���� ��� ��� ��
 ����	 ������������ ����� ���	 �� ����� ������������ ���� ������

��������� �	
)	 ?
�������
����	
��
��
� ��� ���
�
��
 (����

+5D



3�	� ���� �������� 3���� �� ����� ��������� ������������� '��	 �	
���� !
��� I��N ��#� �� ��M����

���� ��� 3����������� �� ������������� ���� !I�������	��� 0�� π# ��� ��� 3���������� �� �?����

���� !���� I�������	���#� %�� 3������$��� ��	 ;	������������� ��� '��	�� !�-+# �	����� ���� ���

l = (2n − 1)λ
4 = c

4ν =� ����� � ��� '��	�$��� ����

��������� �	
*	 ���
�
��
 (���� �� ��
������ ���	
�����
�
 /�
�

+5F



3�	� ���� �������� 3���� �� ����� ���������� �?���� '��	 �	
����� �� ��M���� ���� �� ������ ������

��� '��	�� 3������$����� %�� 3������$���� ��	 ������������ ��� '��	�� ��	 2$��� � �	����� ���� 
�

λ = 2l
n = c

ν

��������� �	��	 ���
�
��
 (���� �� �@�
�
 /�
�

+5G



$������	�����' $���������
�

%�� ;��������������� ��� ��	 ���� ��� ;���������� [ω t − kz + ϕ0] ����	 3���� $���	� !��	�� 4�������

��	 ;���������� ���� t 
� �	������# ���)� &�����
��
������
���� uϕ� ��� uϕ = ω/k �
�� uϕ = λν� %���

��� ��� 4���	���������������������� ����� !�����������# ��������
�� ��	 =�	�

Ψ(z, t) = A0 cos[ωt − kz + ϕ0] .

B� ��	 ����	 ������ ������ 3�����
7�� ���� 0�	* ����������� ����� ��	 
������� ���  	����� ���	 ���	

������	 ���	��
�� 3�����
������ ���	 3������������ ���� 3������	���� �������� ��	�� P��	����	���

0�� 
��� ���	 ���	 3�����
7��� 
���
��� &���� ��� '�
����
 ���	 ������
������
��� (��)���� ��� ���"

������
�� 4�� �������� ������ ��	 
��� ��������������

ΨWP(z, t) = A0 cos[ω1t − k1z] + A0 cos[ω2t − k2z]

��	�� C�	������� ��� 4�����������
�� 
7	 �������
��������� �	������ ��	�

ΨWP(z, t) = �2A0 cos[∆ωt − ∆kz]� cos[<ω> t− <k> z]

%��� ��� ��� =�	� ����	 <Q;	��������������R> × <S������	� 3�����
�������T> ���

∆ω =
(ω1 − ω2)

2
, ∆k =

(k1 − k2)

2

���

<ω>=
(ω1 + ω2)

2
, <k>=

(k1 + k2)

2
.

+5J



%�� ;�������������� ��	 3������	����� ������� ;	�������������������� uG� �	������ ��	 ��	�� 4�������

��� 4	������� ��	 ;	�������������� ���� t� ����� ��	 ��� ;���������� 
����������

[∆ω t − ∆k z] = �������

d[∆ω t − ∆k z]

dt
= ∆ω − ∆kdz

dt
= 0

��	���

dz

dt
= uG =

∆ω

∆k
,

�� ��

uG =
dω

dk
.

%�� ��
������ 
������� ω ��� k� ���� ω(k)� ��	� *������������������ �������� ω = uϕ k� =���� uϕ -

������� ����� ��� ��� /����� ����������	��0� ω(k) ��� ���� ;�	���� ��� uG = uϕ� 4���	��
���� �����

��	�

uG =
dω

dk
= uϕ + k

(
duϕ

dk

)
. . .

B� ����� �����	��0�� /����� !
� �� 2���� �� ;��� ���	 3����	� <��	���� %����	����># ���� duϕ/dk < 0

��� uG < uϕ�

+5K



���	��	�)���*��

�����	 ����� ��	 ��	 ��	�������� ������������ ���	 3����� ���	������� ���������� ��� ��� ����	 ���
�����

�����" ���	 �������
������� �����	����� ��	��� � ����� B� ��	 ����	 ������ ������ 0���� ��	��������

C�	�$��� 0�	� ��� ����� ��	�������� �����	� ��	�� ������
��	��	� =��������� 
� �����	����� ����� ���

� ���� �	��
��� ���� $������ ��������� ��	���� ��� ��� ��	��������� I�$������� ��� ��	 �����	 ����"

������ ������

%��� ��� 0�� ��� /����������	 �� ������� 0�	 �$���	�	 (��� ��
���� ��	���� %�	 	��� ��� ������

�� ����� ��) %��� ��	�������� =�������� ���� ������	 =�	�� ��� ����� 0�� �����" ���,���	 �������"

=��������� �����	����� ��	��� �����

F (t) =
∑

A(ωi) sin(ωi t)

.��	 ��� F (t) ��� !���������# ��	�������� (���
�������� ��� ωi ���� =	�1���
�� !���� ;	���
	�1���
 ω1 ���

C���
���� ��0��#� ��� ��	�� ��� 2��M���E i ����	��	� ����� ��� A(ωi) ���� 4��������� !�� �� (������ ���

��� 3���������� ��	 ���������� =	�1���
����������� ωi �������#� ��� ��� ����� �	
�)� ��0���� =	�1��
��

!3�	�� 0�� 2��M���E i# ��� � ���� �� ��� =������� F (t) ��	
���������

%�� 4����� ��	 =	�1���
�� ωi ��� 4��������� A(ωi) 
7	 ���� !
� �� ���������# =������� F (t) �����

��� <=��	��	"(�	������>* �������	� ���� ��� ���� ��������� =������� F (t) ��	�� 3��� ��	 4���������

��� =	�1���
�� ��
����� H ���� ���)� <=��	��	"�&������>� %�	 P��	���	�? 
7	 ����� C�	
��	�� ��� ���

<=��	��	"4���&��>� %�� �	������ H �� ������ '��������� H ����� ��� ���� <=��	��	"8	���
�	�>�

%���� C�	
��	�� ���� �� ��� ���
��� @5 O��	�� H ������� �� �	�����	�� ��� ���������
$���� �����	�������

'�����	 ���� H ���	 ������� ����	���� ��� ��	��� �� ��	 ��	����	����&�� ��	 /���	�� ������� ��	���E��	�"

������ !�����	������	������ ����	������	������ ' �������	�����#� ���	 ���� �� ��	 �����	�������A ���

� ?
������ �	
��
��
��<������������� �
 >����-��
% ���
����	
� '��
����
�
�<�������������

+56



0�	 ����� ��� ������������ /�������B 0�	������� �� ��� �	�������� B�
�	�������� ���
��	 
� �������

4��� ����� ��	�������� =��������� G(t) � ���� �� ����&���	� ��	��� H ��	 ���� ��) ��� ����� ��	��

��� B����	�� �	���
� ��	���� ��� =	�1���
�� ��	��� ��� ���������	���� 0�	���	��

G(t) =

∫
A(ω) sin(ω t) dω �
�� A(ω) =

∫
G(t) sin(ω t) dt .

� /���
�
�<=�������
��% /0
���
<=�������
��% �������
<)������
�<=�������
��

+5L



��	
���

%�� 4������ ��������� ��� �	
������ ��� 4���	������ 0�� ������������� %�	 ������ ��� ���� �������������

3����� ��� ���� �� ����� ����	������ /����� ����	����� !2�
�� 3����	� /����� ����#� �	 ������ ���� �����"

��	� �������� '���� ���� �� ��� �������
�������� 3���������
���� ���� /������� ��� 8��	� �������	����


7	 ��� 4�
����� 0�� ������������ �����
��� 3�� ��	���� ����	������ �$��� ��� 4���	���������������"

������� u 0�� ������������ 0�� 
��� ���������
��� ��� /������ ��� 0�� �����	 <	7���	�������� �	�
�>

!��	�� ��� ����	������������ �
�� ������
��$������� ��������# ����� 0�� �����	 8	$����� !��	�� ���

/����������� ρ ��������* 0��� ����������#�

B� /������ �� ���� ��	 ������ �	������������� ����	������ ��� ��	 ����	������������ ��)�������

u =

√
K

ρ
.

%��� ��� ��	 =��� ��� ;���� ��� =�7����������� B� ;���� �$)� ���� ��	 ����	������������ K ��� .��
� ��	

(���������������� !����� 3$	�����	� �� 4�������� +� ����� +F5# ��� =������� ��� %	���� P ����	7�����

K = Pκ S����� ���������� ��	�� ��) ��� ����������	������ �� ������� ���$�
�� ��) ���� 8����	���	"

��������� � ����� ��� !�����������#� %��� ��� κ ��	 ���������� 4���������E������ !κ � +�F 
7	 2�
�#T�

%� %����� ��� %	��� �������	 �	���	������ ����� �	���� ���� 
7	 ��� ��������������������� �� 2�
� �����

u =

√
κ
R T

M

3� R ��� <���������� ;�����������>� T ��� �������� 8����	���	 ��� M ��� /������� ��� ;���� ����

!(�������	� 
7	 2�
� ��� 20 ◦C : u = 343 m/s#�

++5



��� ����������	������ �� 
� �� ����� /��������� ��� ��	 ������
��$������� E ��)������� ��� ��������"

������������� ��� ������� ��	��

u =

√
E

ρ
.

B� 
����� /����� � ���� ���� �	���0�	���� ������������ ��
�	�����

%�� ;	 )�� ��� ��� <4���������> 0�� ����	 ����������� ��������� ��	��� ����� ��� ��� ������ %�����

��� /������� ��� 3���� ������� ��� ����	 =���� 0�� C�	���������� ��� C�	�7������� ������� ��	 4��"

�	�������	�������� B� ;���� ���� %	��� ��� %����� �������	 �	���	������� �� ��) ���� ����������� ����

��� %	�������� �� ������� /����� �����	����� ��	��� �����

�� ��� ��� �	
������ ����	 ����������� 0�	
��������� ������ ��	 ��� /����� ���� ����� �$��� ���

/������ !
� �� 3����	 �� ����� '��	� ���	 ���� 2�
��$��� �� ����	 A	����
��
�#� 4� ����� ���� ��	�

��	�� ����� ������ ��� ���) ��
 ��� /����� ���������� ��	 ���� ����������� �	
����� ������ ���� ��

��� /����� ��� ��	 ;�������������� u ������� ��	 �$��������� 
�	��N��
�� %�	 ������ ��	� ��� ��	

!������	��# ;�������������� v �$�	��� ��� (�������	0���� ∆t ��� ��	 �	�
� F ������� ��� �	
���� �����

��� �	�
����) F ∆t� /�� ��	 %�M������ ��� %	����� P = F/A !�	�
� �	� =�$���#� ��� ���� ��	 �	�
����)

F ∆t = A ∆P ∆t�

4�� ��	 /������� ������ ��	� ��) ��	 �	�
����) ������ ��� B�����$���	��� !�� �� /���� · ;�������"

�������# ���� %�� 0�� ��� ������ ������� /���� ��� /������ ���	$�� ∆m = ρ V = ρ A ∆x !�� ρ ���

/����������� ��� V ��� �� ��	 (��� ∆t ������� C������ ��� /������ ����� ��� ∆x = ���������"

��	���� ��	 3����� ����� u = ∆x/∆t ���	 ∆x = u∆t ����* ����� 4��� 5�@+ ��
 ��	 
�������� �����#� ���

B�����$���	��� ∆mv ��� �����

∆mv = (ρ A∆x)v = (ρ A u∆t)v

+++



��������� �	�
	

;��������
�� 0�� �	�
����) A ∆P∆t ��� ��	 B�����$���	��� �	�����

A∆P∆t = (ρAu∆t)v ���	 ∆P = ρuv !5�+#

%�� %	���$���	��� �$��� ��� ��	 C������$���	��� 7��	 ��� ����	������������ 
��������

∆P = −K
∆V

V

!5�@#

%�� C������ V � ��� �� ��	 (��� ∆t �� �������� ���� ���	$�� A∆x = Au∆t !�� ����#* ��� C���"

����������
 �� ��	 (��� ∆t ��� ��	�� ��� �������� ��� ������� �������� ∆V = −Av∆t� ������
��

�� ��� ��
������ !5�@# 
7	 ∆P �	�����

∆P =
−K (−Av∆t)

Au∆t
= K

v

u
. !5�D#

++@



%�	 C�	������ 0�� ;�� !5�D# ��� ;�� !5�+# �	���� �����

K
v

u
= ρuv

���	

u2 =
K

ρ

�� ��

u =

√
K

ρ
.

%���� ��� ��� ����� ��
������ 
7	 ��� ��������������������� u ����$�����

�������
"	�� ��� -��
�
"	��

��� /��� 
7	 ��� ��������$	�� �� ����	 ���� �	������������� ����	�������� ����������� ��� ��� +��������� ��	

3����� ��M���	� ��� ��� 0�� ��	 3���� 7��	�	����� ���������	��� �	� (��� ��� =�$��� !��� ���������������

��� ��
 ���� =�$��� A 
$���#�

I =
∆E

A ∆t
.

����	 . 	0�	� ��� ���M���� ����� ��	��� ��� ��������������$�* 0������	 ��� ��� ��� 	�� 2�����$	��

����	��������� %���� ��� ��� A�	 ���� �	�)� �&�������� ������ �� ���� 7��	 ����� ���	 �	�)�� ��	����

0�� ��������$	��� ��� ������ ��
������� /�� ��M���	� ������� ��� 2�����$	�� β ��� %�
����"2���	������

��	 ��������������$��

β = 10 log

(
I

I0

)

++D



!������� <%�
���� !���������#> =̂ dBA#� .��	 ��� I0 ��� ��������������$� �� ��	 . 	��������� I0 = 10−12W/m2�

%������ ��� ��� 2�����$	�� ��	 . 	�������� ������� ��	��

β = 10 log

(
I0

I0

)
= 10 log(1) = 0 dBA

��� ��� �����	
�������� IS =̂ 1W/m2 ��	��

β = 10 log 1012 = 120 dBA .

)���
����� �����
�����

P��	����	� ��� 
��� ������������ ��� ����	�����������	 =	�1���
� �� ��������� ����������� !0��� <��"

�������� ������������>#� %�� ������ 3����� ����$���� ���� �� ��� 0�	��$	��� ���� �����������* ���

� 	� ������ ��
 ��� �� ��� ��	�������� ����	��� ��	 2�����$	��� ��� �� �� ��������	 ���$�
�� �� �$��	

��� ������ =	�1���
�� 
��������	 ������� /����������� �$)� ���� ������ I�$����� ��� P��	����	��� 0��


��� �����" ���	 ������������� �����	����� !����� <3������	�����>#� �� ��) ��� �	������ ��� I	�����

����	 
������$������ 4�������� ��� ����	 <������	�� 3����> �����	����� ��	��� �����

Ψ(t) = {A0 cos [∆ω t]} cos[<w> t] .

%�� 3�����
������� Ψ ������ ���	 �������	 ��� �������	��� ���	 ��� %����� ��� /������ ��	 !���	 ��� ��	

��� (������$�������� ��	7����������� ��� A	�����$�������� ����	��� ���	 ���� ����	 $�������� ��
������#�

%�� ����������
	�1���
 ∆ω ��� ������� ��	�� ∆ω = (ω1 − ω2)/2 ��� ��	� ���	 ������ ���� ���� ���

������ 7��	����	��� =	�1���
�� ���	 ��� ������* ��� ������	� =	�1���
 < ω > ��� ��	 /�������	� ��	

7��	����	��� =	�1���
��� <w>= (ω1 + ω2)/2�

++F



 �	 .�
	�������

/������� � 	�� �� ����� =	�1���
�	���� 
������� ��� +5 .
 ��� ��� @5 �.
� ������������� ��� ����������

� ��	� =	�1���
�� ������ ���)�� < ���	�������>� ��� �	����� ���� �� ��	 2�
� ���� ���� ��
7	 ���	 ��

���������	��� /����� H 3����	 ���	 
���� /���	�� H ���	 ���	 ������	 ���� ��� � ���� ����	 �����
�

��	���� �� ���������	� ��	����	�� ����	���� ��	 /���	��� 
� �� ���� ����	���� ��� ������������ � 	"

��	�� 
� ����	������� '�N������ ��	 ���	������������� �� ����	�� ��	����	�� 
7�	� �$����� 
� ������ ���

������������ ��� 
� ����� ���� 0�	�	������ ��	��� � �����

SC�	����� ��� ���	�����������	���	 ��� ��� ���������	�T

�
������������
��� ��

��

)����#���� ����������
��

����
	�#����
����� $�����' ��
�
����� ��� )��
	��
���' ��� ����
	�#����
�����

����
	�#

%�� 
����� 3������	�� ��)�	 ������������� ��� ��	��� 0�� ������������ �������	����� ���	��������

��	��� ����� ���� ��� 2����������� ��� ���� ��������� 
7	 �����	������������ 3����� ��� ������ �����

!�������# 8��� ��� �����	������������� �����	����

B� ;�������
 
� ������������ ���� �����	������������ 3����� ����� �� ��� ����	������ /����� ��������

H ��� � ���� ���� ���� �� ����� ��	
����� C����� ����	������ ��� ���� ���� ����� �������������� �����	�

�	���0�	���� 3������ %�� <4�����������	 )��> ���� ����� ����������� ���������
��� !��� 
� �� ��	 %	���

���	 ��� %����� ��� ������������#� �����	�� ��� ��	 ���� ������� �����	����� ��� ����������� ;	 )���

������	� ��� �����	������ ��� ��� ������������ =����
++G



%�� ���������
��� ������	 =����	 ��	��� ��	 ��� ��$��	 ������	 ���������* 
��$���� 	����� �� 
� �������

��) ��� ���	��� �������	� � ����� ��� ��) ��� ���� ����������� ��
����� � ���� !���� ��� 
������$����

����� 
� �� �����
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